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Physical Chemistry_Chpt_One_Properties of Ga:
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University of Mustansiriyah 1%t Semester-2021
Department of Chemistry 15t Exam-paper A
Qz1: Circle the right answer for all of the foIIowmg (50 points)
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1: If a gas has a non-polar particle then the dufference between the volume of this gas is: 6/),, )

Answer: a) VReal > Vperfect b) Vreal4 Vperfect €) VReal = Vperfect

as’ \AAJ\LQ‘))/O u‘ €. 59\
2: A gas occupies 300000 mL at 130 °C and 760 mmHg pressure. What wo e volume at STP?
Answer:  a)203.22mL b) 203.22 dm? €208 )/ /5/ 204 dm? _

(OB
3: Calculate the weight of CHs (16 g.mol?) in a 10 L cylinder at 15 x 10° Pa and 07 K. \
Answer: a) 95.33 g mol? @95.33 g ¢)9.33mol d) 95.33 kg ; f

¢ % ow V4 &~ '0, @ ///—\
4: Calculate the number of moles for CHs in a 10000 mL cylinder at 106 Paand 32 31"(:) /

Answer: a) 4.5 mol 0 mol” ¢)4.0 mmol d) 4.5 mmol ( ,% \
/ y
5: According to Graham’s law the heaviest gas is? 5 G @*\ i

Answer:  a)H20 @CH% c) NH3 d) (O D \ 5@

6: A 20 L tank contains a certain amount of gas at 10° Pa. The gas is transferred to anothbr tank 40 dm3. What

should be its pressure? TR
Answer: @.50 agm-"” b)50dm? ¢)50.atm_d) 0.50 mmHg _z_&

/

7: According to the Avogadro’s law the amount of a substance is directly proporti nal with?
Answer: a)p b) T ¢)R d)V ‘\g) n/ / O// |
8: The dnfference between real and ideal gas is one of the following? AL Ut o @t
Answer: aw p & h|gh’l' @igh p&lawT c) highp & highT d)lawp &law T

|
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9: It can know the densnty of a gas by applying one of the following? P \Lg( 3\
Answer: a) Van der Waal’s law | b) \Grahamﬂa{ c) CharlessJavrd) Gay-Lussac’s law
o S
10: If Vi is bigger than V°n, then this means the behavuour of a g%
Answer: a)Real b)lideal c)Real &ideal o/ S
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Q2: A (28 mol) gas sample has a mass of 10000 mg. The volu a container is 22 dm? at a temperature of 76

oC and a‘pressure of 641 Torr. What is the density of the gas? | - (25 points)

Q3: An Ar gas is placed in a container at 30 OC at a pressure of 730 torr. What is the volume of the container in

mi? V=7 (25 points)
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